GOVT. OF ASSAM DIRECTORATE OF HORTICULTURE & FOOD PROCESSING ASSAM, KHANAPARA, GUWAHATI-22

No. Hort. FP/374/ HMNEH/ T.C Banana/2016-17/ Date: 21-02-2017

Director of Horticulture & Food Processing From ·

Assam, Khanapara, Guwahati-22

To The Managing Director,

Assam Seeds Corporation Ltd. Khanapara, Guwahati-22

Sub Indent for supply of Tissue Culture Banana seedling (Var-G-9) for cultivation

without integration in farmers field under Horticulture Mission for North East &

Himalayan States (HMNEH), MIDH 2016-17 (Central Share).

Ref I. Govt. sanction order No. HFPD.13/2016/25 Dispur dated 3rd October /2016

II. Govt. sanction order No. HFPD.12/2015/31 Dispur dated 3rd October /2016

III. Govt. sanction order No. HFPD.14/2016/25 Dispur dated 3rd October /2016

Sir,

With reference to the subject cited above, I would like to request you kindly to arrange for supply of Tissue Culture Banana seedling (Var-G-9) as per specification for cultivation in the farmers' field under the scheme "Horticulture Mission for North East & Himalayan States (HMNEH), 2016-17 under MIDH, as per rate vide the Minutes of Price Finalization Committee for E-procurement, within the financial year 2016-17 for implementation in time. Details allotments are enclosed in Annexure-I.

Specification: As per bidding document (which is to be distinctly mentioned in the supply order).

The necessary bill in triplicate with receipted challans and stock entry duly countersigned by the concerned District Agril. Officers as well as competent authority of ASC Ltd. with seal must be submitted to the undersigned for necessary payment.

Terms & Conditions:

- 1. Only quality Tissue Culture Banana seedling (Var-G-9) Polly potted secondary hardening have to be supplied as mentioned at Annexure-I.
- 2. Planting materials should be delivered to the delivery point at District Head Quarter. No split bill will be accepted.
- 3. Any substandard is detected after supply, the supplies will be rejected and no payment will be made from this end.
- 4. Quantities should be supplied as per our supply order. Any short quantity found anywhere, drastic action will be taken against the officials involved and the suppliers.

Yours faithfully

Director of Horticulture & Food Processing Assam, Khanapara, Guwahati-22

Date: 21-02-2017

No. Hort. FP/374/ HMNEH/ T.C Banana/2016-17/ Copy to:

- 1. The P. S. to the Additional Chief Secretary & APC, Agriculture Department, Govt. of Assam, Dispur, Guwahati-06 for favour of kind appraisal of Addl. Chief Secretary & APC.
- 2. The P. S. to the Commissioner & Secretary to the Govt. of Assam, Agriculture Department, Dispur, Guwahati-06 for kind appraisal of Commissioner & Secretary.
- 3. The District Agriculture Officer ----- for information. He is requested to distribute Tissue Culture Banana seedling among the selected beneficiaries and to report in the www.hortnet.gov.in web portal accordingly.

ANNEXURE-I

DISTRICT WISE ALLOTMENT OF TISSUE CULTURE BANANA SEEDLINGS (Var-G-9) FOR CULTIVATION AMONG SELECTED FARMERS/ FARMERS GROUP UNDER HMNEH (MIDH) 2016-17

Sl. No.	District	Qty. (Nos)	Rate/ seedling	Financial (Rs.)	Remarks
			(Rs.)		
1	Jorhat	21491	19.63	421868.33	Tissue culture Banana Seedlings
2	Barpeta	21491	19.63	421868.33	should be distributed among the
3	Baska	21491	19.63	421868.33	selected farmers under the scheme
4	Nalbari	21491	19.63	421868.33	HMNEH 2016-17. Due wieghtage
5	Chirang	21491	19.63	421868.33	should be given to SC/ ST & woman
6	Dhemaji	21491	19.63	421868.33	farmers based on availability of land.
7	Lakhimpur	21491	19.63	421868.33	It is mandatory to post the progress
8	Marigaon	21491	19.63	421868.33	in the Hortnet.
	Total	171928		3374946.64	

GOVT. OF ASSAM DIRECTORATE OF HORTICULTURE & FOOD PROCESSING ASSAM, KHANAPARA, GUWAHATI-22

No. Hort. FP/374/ HMNEH/ T.C Banana/2016-17 / Date: 21-02-2017

From: Director of Horticulture & Food Processing

Assam, Khanapara, Guwahati-22

To : The Managing Director,

Assam Seeds Corporation Ltd. Khanapara, Guwahati-22

Sub : Indent for supply of Tissue Culture Banana seedling (Var-Malbhog) for cultivation

without integration in farmers field under Horticulture Mission for North East &

Himalayan States (HMNEH), MIDH 2016-17 (Central Share).

Ref : I. Govt. sanction order No. HFPD.13/2016/25 Dispur dated 3rd October, 2016

II. Govt. sanction order No. HFPD.12/2015/31 Dispur dated 3rd October, 2016

III. Govt. sanction order No. HFPD.14/2016/25 Dispur dated 3rd October, 2016

Sir,

With reference to the subject cited above, I would like to request you kindly to arrange for supply of Tissue Culture Banana seedling as per specification for cultivation in the farmers' field under the scheme "Horticulture Mission for North East & Himalayan States (HMNEH), 2016-17 under MIDH, as per rate vide the Minutes of Price Finalization Committee for E-procurement, within the financial year 2016-17 for implementation in time. Details allotments are enclosed in *Annexure-I*.

Specification: As per bidding document (which is to be distinctly mentioned in the supply order)

The necessary bill in triplicate with receipted challans and stock entry duly countersigned by the concerned District Agril. Officers as well as competent authority of ASC Ltd. with seal must be submitted to the undersigned for necessary payment.

Terms & Conditions:

- 1. Only quality Tissue Culture Banana seedling Polly potted secondary hardening have to be supplied as mentioned at Annexure-I.
- 2. Planting materials should be delivered to the delivery point at District Head Quarter. No split bill will be accepted.
- 3. Any substandard is detected after supply, the supplies will be rejected and no payment will be made from this end.
- 4. Quantities should be supplied as per our supply order. Any short quantity found anywhere, drastic action will be taken against the officials involved and the suppliers.

Yours faithfully

Director of Horticulture & Food Processing Assam, Khanapara, Guwahati-22

Date: 21-02-2017

Memo No. Hort. FP/374/ HMNEH/ T.C Banana/2016-17/

Copy to:

- 1. The P. S. to the Additional Chief Secretary & APC, Agriculture Department, Govt. of Assam, Dispur, Guwahati-06 for favour of kind appraisal of Addl. Chief Secretary & APC.
- 2. The P. S. to the Commissioner & Secretary to the Govt. of Assam, Agriculture Department, Dispur, Guwahati-06 for kind appraisal of Commissioner & Secretary.
- 3. The District Agriculture Officer ------ for information. He is requested to distribute Tissue Culture Banana seedling among the selected beneficiaries and to report in the *www.hortnet.gov.in* web portal accordingly..

ANNEXURE-I

DISTRICT WISE ALLOTMENT OF TISSUE CULTURE BANANA SEEDLINGS (VAR-MALBHOG) FOR CULTIVATION AMONG SELECTED FARMERS/ FARMERS GROUP UNDER HMNEH (MIDH) 2016-17

Sl. No.	District	Qty (Nos.)	Rate/seedl ing (Rs.)	Financial (Rs.)	Remarks	
1	Cachar	14750	28.60	421850.00	Tissue culture Banana	
2	Goalpara	14750	28.60	421850.00	Seedlings should be distributed among the selected farmers under the scheme HMNEH 2016-17. Due wieghtage should be given to SC/ ST & woman farmers based on availability of land. It is mandatory to post the progress	
3	Kamrup	14750	28.60	421850.00		
4	Dibrugarh	14750	28.60	421850.00		
5	Bongaigaon	14750	28.60	421850.00		
6	Kamrup (M)	14750	28.60	421850.00		
7	Nagaon	14758	28.60	422078.80	in the Hortnet.	
Total -		103258		2953178.80		